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Question No. 1 to 8 are very short answer type questions. Each
question carries 1 mark.
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Question No. 9 to 12 are short answer type questions. Each
question carries 3 marks. Maximum word limit of answer is

50 words.
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Question No. 13 to 18 are long answer type questions. Each
question carries 4 marks. Each question has internal choice.

Maximum word limit of answer is 75 words.
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Question No. 19 to 24 are long answer type questions. Each
question carries 6 marks. Each question has internal choice.

Maximum word limit of answer is 250 words.
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(& ag sala yw)
(Very Short Answer Type Questions)
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When is total utility maximum?
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T e forl Fed &7 (1]

What is Market Price?

Tt e & &1 79 ST S &7 1]

Where is the head office of the Reserve Bank of India?

ok TET T Y AT [1]
Explain the meaning of token currency.

A AR T W T FERF R L 1)
What type of taxes are income tax and wealth tax?

wfora e & gt &2 I
When is Budget balanced?

foreft fafm aem T 82 1
What is Foreign Exchange Market?

araviter fafing o @ = sfwm @2 I

What is meant by Flexible Exchange Rate?
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(Short Answer Type Questions)
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The following table gives the marginal product schedule

.of labour. It is also given that total product of labour is
zero at zero level of employment. Calculate the total and
average product schedules of labour.

Labour | Marginal Product (MP;)
1 3
2 5
3 7
4 5
5 3
6 1
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Classify the market on the basis of function. (any three)

qya-11 I 7T 1 hIHdt 9 39T N1 92T 82 [1+1+1

What is the effect of excessive demand on price? =3
qua-12  a€d ! IHITAd 3 1ot o) & iy 31

Explain the factors affecting savings.

CEERIESLS))
(Long Answer Type Questions)
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Why do we need government budget? - 1=4]
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Write the difference between Revenue Expenditure and
Capital Expenditure. (any four)
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- 1=4}
Give suggestions for the improvement of Commercial

Banks. (any four)
rear

OR
o I R T & 7 e (& T
Write the merits of 2 good money material. (any four)

vt fefa o a TIiaa &3 9T SR A EY [1+1+1+
(1§ 9R) 1=4]
Write the factors affecting the foreign exchange rate.

(any four)
Iraar

OR
TR FIH T WPIaW Ser | A fafeg (& =)
Distinguish between Balance of Trade and Balance of
Payment. (any four)

v fareeteor & ST aRon & vew 9 fafag @A) (141414
Write the importance of concepts of revenue in price 1=4)
analysis. (any four)
YT
OR
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Distinguish between fixed cost and variable cost.

(any four)
wi-17 fFefafas stest & AR EST SR AR qaT s [242=4]
W] 3G i TOET A '
73 F3TaH)
() TR FEIH] B IR 5000
(if) qeiTa gl = IRT 3500
(iii) ST OGP G AT IRT 1500
(iv) Fraifoa aegstl 3 ST 1 1000
(v) SHIa SEgH! I S B 800
Calculate the Gross National Product and Gross
Domestic Products with the help of following data.
Expenditure (T I crores)
(i) Production of consumer goods 5000
(ii) Production of capital goods 3500
(iii) Production of consumer and
capital goods 1500
(iv) Price of exported goods and services 1000
(v) Price of imported goods and services 800
Fuar
OR
P.T.O.
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() Jaw 4000
i) Tt 700
(iii) &Y 1300
(iv) S | 500
(v) S 4000
(vi) Eer ey FaaT 1500
(vii) o= fardeft faform - 1000

Based on the following data calculate National Income
by Income method & expenditure method.

Items (Rs. in crore)
(i) Salaries and wages 4000
(ii) Rent ' 700
(iii) Profit 1300
(iv) Interest 500
(v) Consumption expenditure 4000
(vi) Gross domestic investment 1500
(vii) Net foreign investment 1000
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Explain the difference between Real Economics and '
Normative Economics. (any four) ;

Haqr

OR
R AR FHATEAT q9T AR FETIEGT i T ‘
wE iy (@1 9

Distinguish between a centrally planned economy and
market economy. (any four)

(3 3T )
(Long Answer Type Questions)
TE-19  9fd it Fia T B DT FA I A W QARG [1+1+1+
@R 3) 1+1+1

Explain the factors affecting the price elasticity of =6]
supply. (any six) https://www.cgboardonline.com
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Explain the causes of implementation of law of
diminishing returns. (any six)
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Write what are the main difficulties faced while
calculating the national income in India? (any six)

HAQT
OR

TEIT J FT e fafag @ %)

Write the importance of national income. (any six)

T 5 TR T H e TR I GT 7 Yt
T HHETRY
What is the effect of change in demand on equilibrium
price? Explain with diagram.
e
OR

oot s e Frafeer 68 g & e g e
vy

How is price determined under perfect competition?
Explain with diagram.

[1+141+
1+1+1
=6]

[3+3=6]
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W¥A-22 AT a Jrff & 2Rt A HR F I &2 [1+14+1+
Why does the demand curve slopes downward fromlet ~~ 111+1
to night? =6]

HAqr
OR
It dga it wand fafag @ )
Write the assumptions of consumer equilibrium.
(any six)
Ue-23 I T U i & sogrardt fawia sk & [1+1+1+
farezia & st we Fifag @ ;) 1+1+1
Explain the difference between the classical theory and =6l
Keynes’s theory in determining income and
employment. (amy six)
HEqT
OR
It Hi AR S WA S IR g @ )
Write the measures to correct deficient demand (any six)
P.T.O.
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Explain indifference curve with the help of table and 1
diagram.
YA
OR

Fﬂﬁﬁ@?ﬁﬁﬂ@i@@ﬁﬁﬂ%ﬂﬂdﬁﬂﬁm@i
@arfta & g aussy

Explain the relationship between marginal utility and
total utility with the help of table and diagram.
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